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Foundation Course In Tourism-1

Section Id : 864351600
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351721
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 86435113463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tourism involves travel to a destination for:

1. not less than 24 hours and not more than one year
2. not less than 24 hours and not more than two year
3. not less than 20 hours and not more than one year
4. not less than 20 hours and not more than two year

Options :

86435145025. 1
86435145026. 2
86435145027. 3
86435145028. 4

Question Number : 2 Question Id : 86435113464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In tourism terminology, VFR stands for

1. Visiting Friends and Resorts

2. Visiting Friends and Recreations
3. Visiting Friends and Relations

4. Visiting Fun and Recreation

Options :
86435145029. 1



86435145030. 2
86435145031. 3
86435145032. 4

Question Number : 3 Question Id : 86435113465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Grand Tour’ is associated mainly with which continent
y

1. Asia

2. North America
3. Europe

4, Australia

Options :

86435145033. 1
86435145034. 2
86435145035. 3
86435145036. 4

Question Number : 4 Question Id : 86435113466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not a Primary constituent of the Tourism Industry:
A. Attraction

B. Souvenirs

C. Accommodation

D. Transportation

1. A, B and D only
2. A only

3. B only

4. Cand D only

Options :

86435145037. 1
86435145038. 2
86435145039. 3
86435145040. 4

Sub-Section Number : 2
Sub-Section Id : 864351722
Question Shuffling Allowed : Yes

Question Number : 5 Question Id : 86435113467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

State whether the following statement is either True or False. 'The outbound travelers will seek
visas from the embassies/consulates of respective countries they intend to visit’

1. True
2. False

Options :
86435145041. 1



86435145042. 2

Sub-Section Number : 3
Sub-Section Id : 864351723
Yes

Question Shuffling Allowed :

Question Number : 6 Question Id : 86435113468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is an example of subsidiary services in tourism

1. Hotels

2. Eating Joints
3. Tourist Guides
4. Travel Agency

Options :

86435145043. 1
86435145044. 2
86435145045. 3
86435145046. 4

Question Number : 7 Question Id : 86435113469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is the full form of FRRO?

1. Foreigners’ Regional Review Offices

2. Foreigners’ Regional Reception Offices
3. Foreigners’ Regional Registration Offices
4. Foreigners’ Regional Reform Offices

Options :

86435145047. 1
86435145048. 2
86435145049. 3



86435145050. 4

Sub-Section Number : 4
Sub-Section Id : 864351724
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 86435113470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

State whether the following statement is either True or False. ‘India has a comprehensive

National Transport Policy which covers all modes of transportation’

1. True
2. False

Options :
86435145051. 1
86435145052.2

Sub-Section Number : 5
Sub-Section Id : 864351725
Question Shuffling Allowed : Yes

Question Number : 9 Question Id : 86435113471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In tourism, distortion of history takes place because of:

1. Intentional propagation of one’s own bias and interpretation of history
2. Dependence on unauthenticated history books

3. Lack of awareness about scientific history

4. All of the above

Options :

86435145053. 1
86435145054. 2
86435145055. 3



86435145056. 4

Question Number : 10 Question Id : 86435113472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Generalization is the process by which:

1. Real-world features are simplified to allow them to be drawn on a map at reduced scale
2. Real-world features are not selected for inclusion on a map

3. Point, line and area symbolism is chosen

4. Misleading or erroneous information is added to a map

Options :

86435145057. 1
86435145058. 2
86435145059. 3
86435145060. 4

Question Number : 11 Question Id : 86435113473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Palace on Wheels is a train

1. Budget

2. Senior Citizens only
3. Luxury

4. Local

Options :

86435145061. 1
86435145062. 2
86435145063. 3
864351450064. 4

Question Number : 12 Question Id : 86435113474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
According to the Dependency theory, the third werld countries are:

1. Dependent on themselves

2. Dependent on neighbouring countries

3. Dependent on the rich and industrialized nations of the West
4. All of the above

Options :

86435145065. 1
86435145066. 2
86435145067. 3
86435145068. 4

Question Number : 13 Question Id : 86435113475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The purpose of promotion is:

1. Product production

2. Supply of product

3. Fixing the price of the product

4. Creating awareness about the product

Options :

86435145069. 1
86435145070. 2
86435145071. 3
86435145072. 4

Question Number : 14 Question Id : 86435113476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Carrying capacity means:

1. Both natural and human attractions do not have upper limits in their capacities to absorb
visitors

2. Both natural and human attractions have upper limits in their capacities to absorb visitors

3. Both natural and human attractions can absorb all visitors to the destination

4. Both natural and human attractions have lower limits in their capacities to absorb visitors

Options :

86435145073. 1
86435145074. 2
86435145075. 3
86435145076. 4

Question Number : 15 Question Id : 86435113477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the classical dance form of Tamil Nadu?

1. Sattriya

2. Bharatnatyam
3. Kathak

4. Kuchipudi

Options :

86435145077. 1
86435145078. 2
86435145079. 3
86435145080. 4

Question Number : 16 Question Id : 86435113478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statement is not correct?

1. Most of the jobs created by tourism are seasonal in nature
2. Tourism provides a vast spectrum of employment

3. Tourism generates only positive impacts

4. Tourism is multidisciplinary

Options :

86435145081. 1
86435145082. 2
86435145083. 3
86435145084. 4

Question Number : 17 Question Id : 86435113479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first Five Year Plan in India was implemented in the year

1. 1950
21951
3.1953
4, 1954

Options :

86435145085. 1
86435145086. 2
86435145087. 3
86435145088. 4

Question Number : 18 Question Id : 86435113480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Choose the odd one out:

1. Good listening skills

2. Right medium of communication
3. Confusing message

4. Rapport with listener

Options :

86435145089. 1
86435145090. 2
86435145091. 3
86435145092. 4

Question Number : 19 Question Id : 86435113481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il
A. Advertising . personal interaction
B. Publicity ll. paid non-personal form of presentation

C. Public Relations|lll. deliberate planned effort to maintain mutual relationship

D. Personal Selling|IV. unpaid for communication appearing to emanate from other sources

Choose the correct answer from the options given below:

1LA-IIB-IV,C-1lLD-1
2A-IILB-L,C-1,D-IV
3A-ILB-1L,C-IV,D-1l
4 A-ILB-IV,C-1,D-1

Options :
86435145093. 1
86435145094. 2



86435145095. 3
86435145096. 4

Question Number : 20 Question Id : 86435113482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Multiplier effect in destinations will be greater if tourism industry:

1. have a tendency to import goods and services

2. buy goods and services from local market sector
3. employ outsiders

4. engages non-local consultants

Options :

86435145097. 1
86435145098. 2
86435145099. 3
86435145100. 4

Foundation Course In Tourism-2

Section Id : 864351601
Section Number : 2

Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 30

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351726
Question Shuffling Allowed : No

Question Number : 21 Question Id : 86435113483 Question Type : SUBJECTIVE



Correct Marks : 3

Differentiate between Inbound and Qutbound tourism.

Question Number : 22 Question Id : 86435113484 Question Type : SUBJECTIVE
Correct Marks : 3

Identify principal factors which led to the transition to modern tourism in Europe.

Question Number : 23 Question Id : 86435113485 Question Type : SUBJECTIVE
Correct Marks : 3

What is the need and importance of having access to tourism statistics?

Question Number : 24 Question Id : 86435113486 Question Type : SUBJECTIVE
Correct Marks : 3

What is the role of transportation in tourism?

Question Number : 25 Question Id : 86435113487 Question Type : SUBJECTIVE
Correct Marks : 3

In what ways do emporiums promote India’s traditional craftsmanship and cultural heritage?

Question Number : 26 Question Id : 86435113488 Question Type : SUBJECTIVE
Correct Marks : 3

Differentiate between a Tourist Guide and a Tour Escort.



Question Number : 27 Question Id : 86435113489 Question Type : SUBJECTIVE
Correct Marks : 3

Mention some of the social tensions which emerge in tourism.

Question Number : 28 Question Id : 86435113490 Question Type : SUBJECTIVE
Correct Marks : 3

What do you understand by inseparability characteristic of a tourism product?

Question Number : 29 Question Id : 86435113491 Question Type : SUBJECTIVE
Correct Marks : 3

What is market research?

Question Number : 30 Question Id : 86435113492 Question Type : SUBJECTIVE
Correct Marks : 3

What are the qualities required to be a travel writer?

Foundation Course In Tourism-3

Section Id : 864351602
Section Number : 3

Section type : Oftline
Mandatory or Optional : Mandatory
Number of Questions : 7

Number of Questions to be attempted : 5



Section Marks : 50

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351727
Question Shuffling Allowed : No

Question Number : 31 Question Id : 86435113493 Question Type : SUBJECTIVE
Correct Marks : 10

Outline the reasons for the growth of tourism.

Question Number : 32 Question Id : 86435113494 Question Type : SUBJECTIVE
Correct Marks : 10

Enumerate the various types of tourists’ accommodation available in India.

Question Number : 33 Question Id : 86435113495 Question Type : SUBJECTIVE
Correct Marks : 10

How is the costing of a tour package done?

Question Number : 34 Question Id : 86435113496 Question Type : SUBJECTIVE
Correct Marks : 10

Explain the steps in developing a service product.

Question Number : 35 Question Id : 86435113497 Question Type : SUBJECTIVE
Correct Marks : 10



Choose any prominent tourism circuits in India and prepare a tour itinerary for a group of 6
tourists with departure from Delhi.

Question Number : 36 Question Id : 86435113498 Question Type : SUBJECTIVE
Correct Marks : 10

Write a note on the religious diversity in India.

Question Number : 37 Question Id : 86435113499 Question Type : SUBJECTIVE
Correct Marks : 10

Suggest ways in which environmental impacts of tourism can be minimized.



